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Wtk E IR v b '
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HAEFRE k RER,
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-V )

p=——g (/) (1-10)
dp
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p=40cosf (1-12)
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RIBLR R IEEE, I b fftdk b,

R RRA R R R R D E T, R R E Y Mk
L8R AF, LB BN F., F,, F., SRR
NAS EARBRRR ERERS X, Y, Z, TG LRRR T

Y=-1¢ (1-13)
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.
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(1) KFgxty BSH, m

du__ _ du_ o

0=24x%0.044+58
B=—0.084, RA(D)RB
#=Ay*+ (—0.084)y )
Hy=004 Ru=1RA(R, 8
1=A4x0.043—0.08 % 0.044
A= —625
B=—0.084=—0.08 x (—625)=50
G uw=—62592+50y

du__
Fr 1250y +50

X #=pv=1000kg/m’ x 1.00 x 10 °m?/s
=1.00x107*(kg-m/s?) /m?.s
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3t 1Pa(if) =1N/m?,
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v 2~ 5 05X 0% = —0.0017m*

Vo=V, +dV =1-0.0017 =0.9983m’
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#ABCD ty LA RMETIH HEREH 0 Ly B M, &2
5 E e TR

ABCD Ktk | = RE K D 2 Ky i
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k_—W_ (1-12)
(2) 3T K, v =9800N/m?, 0=0°(cos0=1),0=0.073N/m,

__4><0-073><1__ L
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BEAF; (2) s Hig A wzac
mk%m&ﬁ%k? WAI'%,!‘? FFFrrrrrrrrrrrrrirrrrys x‘
At B1-4E

1-5 Bt rhiiE s A v~y B R FR=FE 0 (a)
SER s An, (D) Z M A, (c)MBBRIB A, WRE thibm & Fh

A TR S HE v~y
¥ ry ¥y
4.. — —

S~y Uy U~y
TTTTITII T L Eare. u -7 u
(a) ()} (e)
B1-sH

A
74 = §:(
(a) (5) (o)
B1-6

« 9 .



1-6 Wi Bk =R 0L Tk ik A 2B T O MR R H
tEMr (a)ffikokitb, () BIRKI, (o) ik &t ki,

it B &
1-1 U T i A TR il 2R i B 3o A E B 2 B (ST

(1) —AKRKRETF, 4°C ik g B H 1000kgf/m?;
(2) briERSHET, 0°Cl 23 5 9 T B b 1.293kef/m®;
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(3) BN 11L.5N/m® (555;
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x107°m?/s, WKL MR 3h eS8 B 8.
(1) FAREBr A h 25
(2) MIRRfHRR,
. (1) 2.885x10%Pa-s;(2) 0.294 x 10 %kgf -s/m?,
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